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BifER - $5#107403 8238 -5 ¥A9VART W7H37° R4¥la-R
B 43z E 4 OUT | IN | GR | HDCP | NET e
B &N & 37| 39 | 76 3| 73
#BMA B 43 | 48 | 91 16 | 75
3 | M= 39 | 43| 82 6| 76
4 [FEX BZ 51| 53 |104 | 28 | 76
5 i EA 42 | 47 | 89 11 18
6 =Lk {E8& 51 | 55 [106 & 28 78
1 =8 2B 43 | 57 100 | 21 79
8 A —F 40 | 46 | 86 6| 80
9 B F 47 | 41 | 88 8 80
10 R FIE 41 | 49 | 90| 10| 80
1 Ba B 45 | 45 | 90 9 | 81
12 T Ez 43 | 48 | 91 10 | 81
13 AR B 51 | 47 | 98 17| 81
14 iE BRE 52 | 53 |105 | 24 | 81
15 R HRA 55 | 48 | 103 | 21 82
16 R = 48 | 45| 93| 10 83
17 || fx 49 | 43| 92 8| 84
18 | SH#H —% 52 | 58 [110 | 26 | 84
19 |\ Rt BfeF 60 | 57 [117 | 33 | 84
20 |B7EH HRZAR 40 | 57 | 97 | 12| 8
21 (Kl B 58 | 57 [115 | 30 | 85
22 B+ BRI# 45 | 47 | 92 6 86
23 BEIR  XE 46 | 51 | 97 10 87
24 |ER #= 59 | 54 [ 113 | 26 | 87
25 fBlR EEX 52 | 65 117 | 29 88
26 | LK fBH 47 | 47 | 94 5 89
21 BIR ER 47 | 53 100 | 11 89
28 |FJIl EE 44 | 62 106 | 16 | 90
29 R A 52 | 52 104 & 13| 91
0 B EE 50 | 56 106 &= 15 | 91
3 |kHF LOF 59 | 60 119 & 28 | 91
2 |®mF 1ET 57 | 49 | 106 13 93
33 |fREE % 60 | 45 (105 | 10 | 95
34 B EH 54 | 55 | 109 13 96
3% |HEH H“Z 63 | 55 (118 | 13 | 105
E B2 58 | 58 | 116 1-7"v&mn
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BB - 5F1074E03 8238 Y=Y ¥ R9VARI WIH37° A4FNI-R
I 45z K 4% OUT | IN | GR | HDCP | NET kS
BB BR X7 55 | 42 | 97 | 24 73
£ e BB 44 | 40 | 84 | 10| 74
3 | KE #M 42 | 38 | 80 5 75
4 A 1B 49 | 45 | 94 | 19| 75
5 |¥TH =B 96 | 45 | 101 25 76
6 BER FEsA 45 | 46 | 91 14| 77
1 | @B 45 | 48 | 93 16 77
8 /N8 fE1E 44 | 43 | 87 8 79
9 s BE 45 | 43 | 88 8 80
10 FES X 48 | 50 | 98 | 18 | 80
" |=k # 53 | 51 |104 | 24 | 80
12 ¥k FIE 41 | 48 | 89 8 81
13 luA & 46 | 51 | 97 16 | 81
14 |HFAX #&Fx 49 | 49 | 98 17 81
15 BB B 46 | 42 | 88 6 | 82
16 [#E F1E 54 | 58 | 112 29 | 83
17 |[®LE &R 44 | 46 | 90 6 | 84
18 |BElR B 52 | 54 |106 | 21 85
19 BERIR FAH 54 | 58 | 112 27 85
20 [lUA RE 55 | 58 | 113 | 27 86
21 ZK 47 53 | 60 | 113 27 | 86
22 |Gregory Rouault 52 | 56 | 108 20 88
23 ;FK ‘- 60 | 54 114 | 26 | 88
24 |HF & 54 | 57 | 111 22 89
25 it EA 47 | 59 | 106 11 95
26 /NS EE 50 | 66 | 116 19 97
21 | KAR = 66 | 61 |[127 | 28 99
28 |HhFT fB— 60 | 74 | 134 21 | 113
29 |HEF =M 65 | 71 | 136 12 | 124
=0 Z 74 | 59 | 133 1-7v&m
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